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F#—14 il T2 T BH315% 1 [#HERT2—7—48] 33,100 33,800 -2.1
bif—15 il HH3T B 263%54); [SFB73—8—32) 31,400 32,300 -2.8
Hi—16 bk AEFIRT1591%6 [ FREFIET7 —21) 19,800/ 20,300 -2.5
E#—17 N1 KFEFBEAFEHR297E6 38,600 38,600 0.0
L#k—18 g KFEFHFEFHHESOESHN, 31,800 32,300 -1.5
bl — kT TFHET741%& 104 : 41,300 40,900 1.0
Fi#—20 bl WERT2T H1093% [HENT2—10—28] 49,100 50,000 -1.8
Ei—21 il IKRFEARFLIR261%36 33,000 33,500 -1.5
il — ] FIHX T EFRRR1676E1 24,400 24,500 -0.4
iE—23 g ERILUAT1T E3483%3 [FEA LTI —12— 36J 26,900 27,3000 -1.5

| bilk—24 bk Fibies Al o/ NE T 7193241 20,800/ 21,300 2.8

| BB —25 F#T g K BRI T RM1122%58 16,800/ '~ 17,200 -2.3
- i1l | KERBITFESH760%E22 18,900 19,400 -2.6
ik —21 i KBX T EEFIEGER1983F 20,500 21,000 -2.4
#E—28 EET WERT1 T H19%3 I#HT1—19—6 24,400 25,000 -2.4

| E#k—29 bk A1E2T H2635%33 [AB2—9—22) 36,400 36,800 -1.1
Eiffi—30 e ] KFA R FZIH809F 15+ 9,180 9,340 - =11
bi#k—31 =i KFELAWAFHEME789%S 8,320 8,480 -1.9
bk —32 gk REFEEFTHTHEEF418%F1 10,100|. 10,400, . -2.9
#k—33 i SEIRX _E=4y—344%1 8,700 8,800 - -1.1
#i—34 ik KEEMATHRO610F 15 12,700 - 12,800 -0.8
HE—35 b KEBXEETETEMA166E 15} 4,800 4,880 -1.6
b5 —1 kAT AETS5T H115% [AHRT5—3—28] 73,700 76,400 -3.5
b5 —2 b FEART3T H641& [PaAN3—9—22) 47,300| 48,500  -2.5
5 —3 =20 feH2T B842%2 [fEH2—3—3) 35,400| 36,600 -3.3
i —4 T FESRET1 T B 00 381525624k [FEMAT1—1—20) 51,200 52,700 -2.8
Filfi5—5 kT fHET3T B2 T HEE82%& 14 [fhET3—3—17]|. 34,700 36,000 -3.6
k5 —6 BT EFEHH1TH606ES FHE1—-14-9] 52,300 53,200 -1.7
s —7 B i) IR AR AT6 366 % 1 ' 25,500 26,200 -2.7
5 —8 i KBXLTE Aiﬂfu/ﬂmﬁﬁ%zwﬂ%n% 23,100 23,700 -2.5
F#E5—9 bk B3441% 69,800/ 69,800 0.0
#E5—10 =i RS X ARIE R 462% 15+ 11,100 115500 ~3.0
k5 —201 =] |RF5T B1737& I Kfn5—26—21] 55,000
9 —1 | _B#ET BEESO0ES) TFEET—12] 22,900 23,200 -1.3
o —2 #ET KFH 7P H AR5 448% 35 11,300 11,300 0.0
Fi#ko—3 Nt KFEBETFTRIAT756%E3 10,000/ . 10,100 -1.0
=4%—1 =% EFEI1T BH127&124¢ 155111 —5—4] 45,700| 46,200 -1.1
=%—2 =40 - :ltz%?f%szomé‘éea MbEE2—10—7) 39,400/ 39,900 -1.3
=53 =t A F2TH245%7 I/ E2—9—18) ~ 45,300] 45,500 -0.4
=%—4 =% JhHF953%2 [HbH7—2] 30,600/ . 30,900 -1.0
=%—5 =% EITHT1 T E3136%5 ELET1—4—38] 35,400 36,000 -1.7
=4—6 = i oo 21 289% 341 13,900 14,200 -2.1
=%—7 =4&ih SHEFEH HTAHL23E 12,500 12,800 -2.3
=551 =4 ART3T H514% [AKHT3—6—21] 54,400 56,200 3.2
=45—2 =& - |5EHT10533%9 i1 —32] 48,500| 49,300 -1.6
Rl —1 islani TREHHT1856F 104} [FRAFHT 7 —4] 45,900/ 46,900 -2.1
TRl —2 FRIRF T FAE1T BEES41%E2 [IE1—-7—27] 36,600 37,200 -1.6
FAIRF —3 FRIRE T HE2 T B e L7598 [HiE2—14—2] 21,700 22,400 -3.1
FRF—4 FAIR T *“’$W$/\?é$n15212§1 TRLARRT20—19) 31,100 31,800 -2.2
R —5 FRIRE T 72T B90% [Fikk2—4—12] 19,800 19,900 -0.5
TR —1 PR T B2 T B _FA151%5 [ERpT2—3—11) 60,400 61,700 -2.1
FRIZS —2 FRIRF T HERTEEIT19%1 A HHT9—3) 44,900 45,300 -0.9
FFH— FrEHEm KFEBT2T H1354% [KFHET2—10—2] 35,900 36,200 —0.8
FFEHE—2 FFEHEM HRBET5 T H863%44 [FFRET5—5—28) | 32,0000 32,300 -0.9
BHEHE—3 FFEHE A RBRTARENIR526%E5 17,600 18,000 -2.2
BrFHE—4 FrFE BET2T B1471%2 IHT2—15—12] 40,900 41,300 -1.0
HFEH—5 HEEHE T LENPIFER/E837FE 145t 18,900/ 19,000  -0.5]
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